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Each gas company agrees to sell Q = 2,200 at  P = $35, each earns 
profit = $66,000

If FPC cheats on the agreement and plans to sell Q = 3,000, 
Calculate FPC profit.

ⓘ Start presenting to display the poll results on this slide.

Is it in FPC's interest to cheat?
(FPC earns $66000 under collusion)

ⓘ Start presenting to display the poll results on this slide.
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If both companies cheat and sell Q=3000 
each, calculate their profits

ⓘ Start presenting to display the poll results on this slide.
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P = $30!

P = $25!
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If each firm sells Q = 3,000, 
P = $25, and each firm’s profit is $60,000

Should FPC and T-CPC increase Q to 3800?

ⓘ Start presenting to display the poll results on this slide.
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“If a small number of firms have a large combined market share 
in a properly defined market, it is strong evidence that those 
firms have substantial market power.”

ⓘ Start presenting to display the poll results on this slide.
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Example 3: FPC and T-CPC: Prisoners’ Dilemma

Collude Q = 2,200 Cheat Q = 3,000

Collude 
Q = 2,200

Cheat 
Q = 3,000

T-CPC

FPC

T-CPC earns 
$66,000

FPC 
earns 66,000

T-CPC earns 
$75,000

T-CPC earns 
$60,000

T-CPC earns 
$55,000

FPC
earns $55,000

FPC
earns $60,000

FPC
earns $75,000

Each firm’s dominant strategy:  
cheat on the agreement, 
produce Q = 3,000.
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What is the colluding outcome?

ⓘ Start presenting to display the poll results on this slide.

What is the Nash equilibrium?

ⓘ Start presenting to display the poll results on this slide.
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What is the Nash equilibrium?

ⓘ Start presenting to display the poll results on this slide.
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Since there are only two grocery stores in town, is it likely they 
make “lots of profit” by staying open 24 hours? 

ⓘ Start presenting to display the poll results on this slide.

Can you use prisoners’ dilemma to explain why 
the stores are open 24 hours a day?

ⓘ Start presenting to display the poll results on this slide.
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Any Questions?

ⓘ Start presenting to display the poll results on this slide.
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